Potencias de 10 (F)

Calcule los siguientes productos y cocientes.

6,135 x 1000

1,423 x 1000

9,757 = 1000

4,394 x 1000

8,408 x 1000

4,717 = 1000

2,43 <1000

5,49 + 1000

6,954 x 1000

6,862 x 1000

1,433 x 1000

8,391 +1000

6,125 x 1000

5,22 x 1000

7,127 +1000

4,2 x 1000

3,31 x 1000

5,981 x 1000

4,304 x 1000

4,076 x 1000
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Potencias de 10 (F) Respuestas

Calcule los siguientes productos y cocientes.

6,135 x 1000
6.135

1,423 x 1000
1.423
9,757 = 1000
0,009757

4,394 x 1000
4.394

8,408 x 1000
8.408
4,717 + 1000
0,004717
2,43 = 1000
0,00243
5,49 = 1000
0,00549
6,954 x 1000
6.954

6,862 x 1000
6.862

1,433 x 1000
1.433
8,391 + 1000
0,008391

6,125 x 1000
6.125

5,22 x 1000
5.220
7,127 <1000
0,007127

4,2 % 1000
4.200

3,31 x 1000
3.310

5,981 x 1000
5.981

4,304 x 1000
4.304

4,076 x 1000
4.076
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